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Integers & Absolute Value . "6(4

Order the integers from least to greatest.

1) -3,5,7,-9,10 2) -10,-13,0,-3,1 3) -1,3,-5,-11, 10, 12
& - —jey = -2 -5 -
- -2 5 q o = (0,3 5 =

R A |
Order the integers from greatest to least.
4) 5,9,-2,-7,11 5) -1,-8,-6,-11, -14 6) 20,40,-30,-50,100,-250

|\ =], ~b =& - (o0
) ) ) (!

List the absolute values of the following sets of integers from least to greatest.
7 {-3,5,-2,8,7} 8) {-10,-30, -40, -50, -5) 9) {1,-3,2,-4,5}

/ I \ A ,‘/ ' N N

\ :

= & -

Graph the integers on a number line. >X/ r\ D"l/ ‘ < (&_\e T O W :ruy\‘ i”f\ﬁi;\":

10) -3,5,7,-9,10 11) -10,-13,0,-3, 1
P [ | ‘ f | < -. S W VUG R Y SO W
\ ' ' | N S U U S T R L L L U L
-4 -3 0 5 F lo B e 30

12) -1,3,-5,-11,10, 12
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—W g -3
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Find the opposite and absolute value.

13) -10 14) 20 15) -3
|fl“ ﬁ' 4
[4
AV 2 90( =)0 V
Compare using >, <, or =.
16) 5] 25| 1y 7> 18) 7 = 7]

5 =5

19) Why is the absolute value of a number always positive?
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Extra Practice 1

Lesson 2.1: Using Models to Multiply Integers
1. a) Evaluate.
B+ +E)+E) = T2

b) Explain why (+4) x (—3) has the same value as the expression in part a.

A | . MES |
2. Use coloured tiles to find each product. 0l
B ()% (43) = . C b FOX (D= T
Y (W) = —~]5  Ld D) =07
3. Use a number line to find each product.
w) (9x(2) = /L b) (x4 =—/
Q) (6)x+6) = ~3(, d 9x2)=[8

4. The ice on Mattias's skating pond melted 2 cm every day for 5 days. ( £
Use integers to find the change in the depth of the ice after 5 days.

5. Aliya climbs down a ladder. The rungs on the ladder are 30 cm apart.
a) Aliya climbs down 2 rungs. Use integers to find her total change in elevation.

'T'H =2y Vo= == (7)) A < AT Y un (‘—{_S/

b) How much higher was Aliya before she climbed}JdOWn 3 1'uhgs'?.

\ S\l (\C\ =
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Extra Practice 5

Lesson 2.5: Order of Operations with Integers

1. Bvaluate. State which operation you do first.
a)(8x 5)-4 b) (4H+9] )= — O
9 18+Cn-21) - H D))

2. Evaluate. Show all steps.
2 4-8)-9 = — 1 by (-1)+(20)+5 =~ 5

9 (9+ D) = —| 8 -1 =57

A

3. Evaluate.

3+ -12
D = T T
9 24+(-6)—-1 _ a 36
-5 . (-5)x2+4

4. Evaluate,

a) (T)+9+4x(3)=~2D  b) 5(-2)-63+(7) =—|

| 4(=5)+[28+ (-4)] Ax(-4)+(-8) _
?gc) 5x(=2)+1 25 %d) [0+ (=D]+[2x(=3)] 9

5. Evaluate each expression. Then insert one pair of square brackets in each expression so it
evaluates to —1.

a) 12+(H+(8) = —|\ 12— E(%)%’ ('?SJ = —]
b (9+6:3="F LED~6]+ 2 =
Q 5+(=5)x0+1= | 5 ('5))< [O +g
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Extra Practice 3

Lesson 3.3: Multiplying Fractions

1. Mu1t1p1y Estimate to check.

2,62 4 2.3 3 5,15 7,5 38
a) . aq b)\q 57 10 9 2 472 d) 3 3"‘9
l 5 e
"ﬁ‘i 7= D3 ¢ 97y z PDEFyTZ
% | e l \ 7# o~

A

2. Daphnc rcplaced light bulbs in her mother’s store.
She had § 3 of a box of light bulbs. She used % of the bulbs.
a) at ractlon of the box of light bulbs was left? ) |
it Rk B ol £ S
‘h D g . el — (:u_ — L _ ‘-i A
b) How many light bulbs mlght be in a full box? l"xplam 4 Z

"’he r\umbéf‘ M’ bulbs wwtsch {h vistble

3. Estimal\@___ c&cﬁ/product . \

a)%@ bou:‘t ]
a\uowté bx2= 2

[ 4

\w

il: 5“\ Tm&)ov@c l
2kl =
4, The product of two fractions i 1s . One fraction is 2 3
What is the other fraction? 1{ ¢
= W\o er  _ 2 There e £ Z=x
3 - Pro ction 5 57 3
ENT D P

u'

5. Multlply Stmpllfybe[me multiplying if possible. \ ,
: W Y ‘ N
WET 2 mg -l o =& o é{x}—%-—é—
\ 2 2 4 2+ 2 2 2

wd -
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Extra Practice 6

Lesson 3.6: Dividing Fractions
1. Write the reciprocal of each fraction. n
=7 a2l 8 S F 2 e LYl
a) = \ b 7= 3 9 i 9 T
2. Use a copy of each number line to illustrate each quotient.
10 .5 _ SR 2
0 1 2
1%1
b + ) Fe.” AP ol /_\/"\q/—*u |
) \5 é 0 1 | 1>:|2._
1=
L p = N
c>%—@>«,»:/w°n;r: 2 T A
¢1l 49 0 7 1
AN - e 7
d L (l‘.‘:& I = = ]
12 \4./ |= 3o g0 3 1
== L [
&3
3. Use multiplication to find each quotient.
7 gl 3.2 4.5 bl
) 373 P 3753 c._)o T o D577
— 3 2 3vs 1 _K.. + . —_ L Z
- X":* :-‘V{f 7 {X*f'"r“; éx,
4. Use common denominators to find each quotlcnt
a) > +1 b I+2 0 2+1 a 3-+23
lé 4 5 10 3 2 6 4
=2 A4 = 4.2 14 o -9
| =7 3 oo 31 g = viB =Tz
4}-]%5. Write three division questions that have % as their quotient.
Possible 2.3+ 3 4 .3 _ 3 dos s
Gnswers 3T % T AT ¥ f>-

I2.

17
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Extra Practice 7

Lesson 3.7: Dividing Mixed Numbers

1. Write each mixed number as an improper fraction.

3. Use multiplication to find each quotient.

Ao mas o S"q“ 0 oL
] 5 .13 4% =L -
%Yé‘% % s g ks 1< 2 Z,_% qééi
3 -25, 35 43 M= w5 == 20 K- Ho
o o2 2 - 4 T2 v X YT BT g
:g"il—fa 23 3'23 _ _';._5“_2’3&- N
l 4. Divide. Estimate to check. 5> 52
N 1 .43 5 . .4 E ol
a) 23 : IZ b) 3§ : 2Z c) lf -25' d) 3E =25
HE) Sk é BB L.s
2, it 4 _ bt A 3,5 _45 o = 4|44
S 1. A 1L s X 5 SH* =\ T o XK T 3/3
_?;_5-—‘,.-2’5 5S < f‘f— \ > = 2
5. Which statement has the greatest value? How do you kno
1C23+l f)r 2341 yc) p) le ﬁ"\of‘& A‘/‘\gb\)ef'). Tk-&b{'f‘
o - L3 tnsper when! Aty
23 VLt D 23+3 1y digided by s
Lond| An swer tese Hhan U =9

Vo 0\\\ {’kﬂ (& w&lrlof\& (:ww(‘ than Hf\e startin

a)2%: U b 12 - F °) 3%::-‘2'2 d)'?i:}-—{—s-»
7 6 g 5
2. Use common denominators to find each quotient.
a) 13+4 b) 25+ 13- ¢) 43+l d) 53+
2 .
iy LR 2. e 1.E
R . g 67 W.or_/=

o

QO

| AU mb el
e Yhe anapers N .,
G Ot # i 3 .Jf:'cnruf A {‘\ s f,'!‘i f

-‘Jm&

'35 Lo He Ame_
A malbiplgiag b33
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Lesson 3.8: Solving Problems with Fractions

Solve the following problems.
Estimate to check the reasonableness of your solutions.

1. During a one-hour phone-in talk show, 8 callers made calls that took 3% min each.

a) How many minutes were used by the 8 callers‘? :
Af‘ —

b) What fraction of the hour was used by these caller

26 min 12 aed.
60 min T 20

¢) How many minutes were left for other callers? ‘ .
b minutes Dsed . Femalm nA 60-29=3F

Ay v'r\\~m/\.3cr.£.- \edd

d) What fraction of the hour was left in the talk show for other callers?
Rewmaining  ZAwmin - I
L - R
60D M\ ‘JO
2. Ms. Lecky ordered pizza for a party. 15 of the vegetarian pizza and

of the ham and pineapple pizza were not eaten. How much pizza was left?

=2 X2 2 39 4 55_“;23-
lS)Jf?) B gx';L Bx: ;ZL/‘ "— L'L 2# 24

3. A dressmaker needs 3% m of fabric to sew one dress.

S @Sﬁl_ 2 8x3g=" )‘x =26 24 minuteS

How many dresses can the dressmaker make with 28 m of fabric? - g\
- ) v - 300
— 0y oy r“‘ . :'J f- - '.-73‘ = Y0 ) L) .o o » l:\ réig
A — R - 2 = — = o ¥ - - ?;} -
9% = T 773 — X = = 3 + con be
A [ < / 2 Zf-
3 b ;\’\ﬁ" (f-‘{__ L;
4. A dock is 77 m high. The portion of the :ock above water one day was measured at 25 m high.
2 \ow)
How much of the dock structure was 2" Water that day'? 3 lo
L (242 5 3 2-92 = - =
L < DA 5\ D “F < > <) = > L
: " f [ ‘_J '
e O LD =
e i” . ....% = —-—“:)—_ = 5 i
~ - 25 ~
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Adding and Subtracting Fractions (A)

Find the value of each expression in lowest terms.

25 (4-D)=0 s 1b+U2-3-%=T0, U (242)-2=35
2%+%“%_’i—3:}§'}6%+%—3%'}l 10.3%—}—1%—1%:%:3/%
s h-d3ts Beath =B dan i (-9 =3

343327 s -5 n2-3rde23E

Math-Drills.com




Adding and Subtracting Fractions (B)

Find the value of each expression in lowest terms.

2 Tg =

1 1 4\ 9,3 1 3 ,2 5,41, 2l 77 _
145_(15—3)-——?%}!’_ 5.§+'§_" —"‘4—8 9, 1§+4§+3§*:__ﬁ -;.f;g-j

[\
A
+
wW|n

_|_
o
N

5

it
a4
it
~\
S
(@)
fe
|
N
[\ ] Nej
_|._
| =
N—
«
b iy
L
Gy
s
I
_|_
p—
=
_|_
=oo
\
~N -
\

I
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Extra Practice 9

Lesson 3.9: Order of Operations with Fractions

1. Evaluate & 5 N
5 1 51 Pho, el — 5 020,11, 13
D 5G9 T30 W §E0tETE 9 DX Grosye

2. What do you notice about the expressions and answers in question 1? Explain. _ﬂ s E'_ A

wake fhe

bl;\‘\" A‘_(_gerer\{: ANSKICrs . T}\{_ b'ﬂf’«(k*’—lr

CNAN AE

2
3. %mma\\{unks the answer to 1l *3 x % is the same as the answer to I* + (4 ~)

~ Is Emma correct? Explain your thinking. 0, Emmas (< I f\\( ol f € JF
(22D =2_/2 ), = _é_#f.;x.“;): -_'-?",:“‘i'
\ > 3T ,_Q_XT 2 = {(_/f- 2, -
— )y & Q. 2 L L3
- }(3“ /’k'g:% — :-r‘-",/-ﬁé;:,_ ]
4. l alc Show dll steps. - [
2 =L pl +3 = o2 gl sk

11,

L1l.1

Add brackets to the expression % sT5—3 X t0 find as many different expressions

and solutions, as you can.

3

TN U W WV - - of £ TS | VUG GRS GRSV N A TR GNP 4 S \ WU R 4
075 7273 X dgelio T5)T 273 N0 T s T2 T3 it
’3 .1 1 3

3 1.1 1 1 (2 ot 1 1.2 3 i = i 1 1
(10+5 ' 2)“ Xrl"('*“'—‘l 1 5)' 2 "3)X 4"4 0t s 7373 %
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( Master 5.21 ) Extra Practice 1

Lesson 5.1: Relating Fractions, Decimals and Percents

1. Write each percent as a fraction and as a decimal.

a) 24.5% b) 23% ©) 73.25% d) 99%
/19 3. " )2 -
.f' ;A}‘J ﬁ_:l_z“__ ~ -}‘_8 2 = o, ”/ 52.) “) 9 5 (D __-‘}.,\_7,-_,\
‘)f’\ Z D 4?}) —___—
2. Use a hundredths chart to represent 1%. 4
Shade the chart to represent each percent. —¥ =3 SHYNAIEL 5}( Cl e A 0.4\ jr’L(‘Q c hm
a) 03% 30 b) 0.55% 55 ¢ 0.04% 4 d) 0.9% 70
¢) 0.335% 33, 5 f) 0.5525% g),p_g g) 0.0475% 4. ‘r“s h) 2% o, 2
2 5 = e -+
L Y >4 t/— Ya Y

3. Wrile each fraction as a decimal and as a percent.

0:025,2,57b) & 0.02)2% o O:ﬂ?—‘fLZ ay 2002 3%

a) :wn 300
) 28

€) 400‘\ “L’r 4’/ f mﬁ;ﬁ%‘? ‘f E"7/ 2) 600 \023) 2.5 h) 4 0:035, 3.5

%

4. Write each pcrcent as a fraction and as a decimal 4 -
a) 0.7% ,._L ,Ooutb) 0.44% S }rao Yc) 015%29{,93’“””’5@ 0.9% 7500 uﬂfﬁ
e) 0920/ 0o n 027% ~°°° g) 0.55% h) 0.36%
> O1 0072 23 D o S VA nEs” L 3,003l
.25 00 /[0 Do) / ,— D0 - - oo J ¢ DD
5. Write each decimal as a fraction and as a percent. £l ) .25 o A 2
: 400 7’ 18 /o
a) 0221 22 . 22,/b) 0.003 0,57 ¢) 0.2225 > d) 0.0095 ;mw}@"
*--:-—-*) /000 ) ) 2
e) 0.016 (LoD o/ 1) 0 375 g) 0.1875 h) 0.0031
o , PG - o
28 D‘r'é/ ?, "? / -/32"‘)/92775’A m-—-'—-LgB_)(:)o /.’,'
6. Elaine scored 19 out of 24 on her science test. _ 4 G b T — - L°
Addison had 81.25% on the same test. Elaint = iﬂ; =046 =7 A

Who did better?
How do you know?

7. During a school tournament, Team A had 10 of its 12 team members present.
Team B had 13 of its 15 players present.

Which team had the lesser percent of its team present at the tournament? ; IP‘
— Tearn A e

Teap Az 5 = 0.¢3 = €2, EY emal lf.’r" %
L S

T—e’aw\, B =0 gh.f;, =
IS

l( -
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( masters.22 ) Extra Practice 2

Lesson 5.2: Calculating Percents

1. Write each percent as a decimal.
Draw a diagram or number line to illustrate each answer.
a) 275% R3S b) 156% /.5
c) 320% 3,2 d) 025% O Oon'S
e) 05% O, 005 ) 058% ©.00D -58

2. Write each fraction as a percent.
Draw diagrams to illustrate your answers.

)& [20% wE 2.5

o £ 500 Yo a) Sy A
9% 2407 03I 45D
3. a) Find each percent of the number. 1. oo / X 240 = 4« 24 F A 062 P
Draw a diagram to illustrate each answer. i - = 0. 24 =1
i) 400% of 240 i) 40% of 240 i Ao/ x 24O $x -
iii) 4% of 240 iv) 0.4% of 240 W4k ayo= 00 0fx 24P =92.4
b) What patterns do you see in your answers in part a? “ 4 7 40
¢) Use the patterns in part a to find each percent. W0, ¢ / W 24 0=0.p 05

i) 4000% of 240 i) 0.04% of 240 V5

7 6po %‘Téo o) O 096 (0.767/0) - Ea QL\ i St~
4. One hundred sixty students’attended Music Night on Thursday night. ’(YP -[—k@ ;
The attendance on Friday night was 120% of the attendance on Thursday mght 6 Ne . C\«D 2 ’[{ M

The attendance on Saturday night was 75% of the attendance on Friday night. \ b
a) How many people attended Music Night on Friday night? A S‘k answer ﬂ
b) How many people attended on Saturday night? [ 0.
. ¢) What was the total attendance for the 3 nights?
4 Fe120%x [e0 = Ji2v/io = B2ai0= IRy 4o) So #hitzy
A house was purchased for $450 000. 0, 7& b /ﬁl = 37"‘ L X 12

Three years later, the house was sold for 124% of its purchase price.

a) What was the selling price of the house? - /4 {/\-/*
b) Estimate to check your answer. 1‘?’5 )LW! K

¢) By how much did the value of the house i increase owver the three years? L{LQ)TJTZ‘\I l”-f* a2 +H L'L ‘(L
|21 /oy>< 450000 = -ﬁté‘f soop :;g = 4qc
6. Ina 500-word assignment, the teacher noted that 1.2% of the words Wergmcorrectly spelled. ‘ (&{, _k
f%ﬁ. N

a) How many words were correctly spelled? . o

b) Estimate to check your answer.
o
> (s ceeck =100 127

f:g ?—LFO/ RS abost ,?OA/‘) 6]9?/

= ¢4 600
(107, oF 450 000 = s ngO _ ) 292,

."{_.‘.,._f})
D m(ffzﬂ/ = e BESD
I~ onShe ™ . '8 Iﬁlt/u

— <D
|2« ftspod =H 50 002 = b0 X
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( Master 5.23 ) Extra Practice 3

Lesson 5.3: Solving Percent Problems

D3 -k W‘wr“/ﬁ? %=40 ,
1. Find the number in each case. 00 e 24
a) 30% of a number is 12. [ P /l)& !
b) 2% of a number is 9. W =2z = 1, > \SD <
¢) 150% of a number is 60. [0D 2 ) —= = —Z é“"' = -Lj"
d) 55% of a number is 11. (00 .
2. Find the whole amount in each case. 9
a) 8%is 72 cm. .ﬁ) 2 7= ‘\?;( ?») (0 O A= 700 e be
b) 0.6%is 18 g. o0 7&- ,«@ ‘?: B ) |20~
¢) 120% is 24 m. e} =
_ 9
d) 32%is 64 mL. @ Db _ = ;mo \éa (8 )1 foc A
/ j \l-rh ! 8\\ _?:_:/_-___ = _::E
3. Write each increase as a percent. ~=3000 é ) /0D x
</ a) The price of gasoline increased from 93.9¢ to 99.9¢.
4’4,’ “ b) The prl(.e of a car increased from $32 000 to $36 000 :Q‘JD (A Crém 3(3 é
|2 .5/ ¢) The price of a loaf of bread increased from $1.99 to $2.49. > @ \nCreose s 315‘033
A5,[ \ A~ clense < $4.50
’ Write each decrease as a percent. C) '

4
./ 2) The number of employees decreased from 6800 to 5200. ~_« i Se e oh
Ad .5 /o b) The area of a park decreased from 840 ha to 672 ha. > A) c‘é’(t’ ' _t - ﬂi\

20°/

. ¢) The price of a computer decreased from $1500 to $1200. 1& A\C crense
-
207 o : A\ } (o0 = ﬁd Qo
5. A printing machine produces labels. C ) ec o
Four percent of the labels prthll_ccd are defective. r) Y 7/ é (.,j; & Ve S U - 1;.}
Suppose 372 labels were defective. w00 A D'f?‘ ﬁ
How many labels are not defective? ! l/ 2 —f’_) 4300 N | a bel
6. A field goal kicker was successful 75% of the time. ' /"r N e =900 -372
He made 51 field goals. N o &C( (’(‘l e “I 2 | })c‘
How many kicks did he make in total? [ = - = =9 4C nbelsS
A e () ! 2oty
7. Lcslcy and Ecld left their waitress a 15% tip. ?’5 Z5. - '
The tip was $10.25. 205" i
What was their total bill, not including the tip? /"B‘E}C :'M X = ﬁ{%gﬁ;ﬁ 52" 33

< _ {025 "'")(_-'—1(00)?9* > | LB b % n
8! OCMerus colfects baseball cards. At the end of 2005, he had 250 cards. 3

His collection increased by 12% in 2006, and by 15% in 2007.

a) How many baseball cards did Marcus have at the end of 2007?

b) Is your answer to part a the same as a 27% increase in the number of cards Marcus had at the

end of 2005? Why or why not? E/\J ()F 30 07 ED/ D‘FZ?D

%60 tnd of 2006 2 1% o250 M w =80t |

. Tab x EO QAP0 [
. €01 o =22l
The right to reprodﬂ)ce or modify this page is restricted to purchasing schools.
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Extra Practice 2

-|-2 ¢) 42=5¢-27

3. Solve each equation. Verify the so]‘l.ltloﬁ. e =
£ a) 2x-7=9 30) "71”?33
45 b) 4x+6=-14 +F

|5 7x-s=13 =

Lesson 6.2: Solving Equations Using Algebra

1. Solve each equation. Ver{ fy the solutlon 9 7
a) 4x=32 ,Abc-/zL x=8

b) —35=—5x =
Q) -48=8x AL=—b A "3

d =54 x=(,

2. Solve each equation. Verify the solution.

a) 8a+11=27
= b; i =i ‘;U“B & Jf“ /7_

d) 6/—15=—45 B A A2
-f'-"- /

¢) 6x—7=-19 o _7’5_4_?

2
4. Solve each equation. Verify the solution. ) A+D = (= &
& a) 2a+3=4 40\ o?
b) 15=10+2b

peps g : = =L
S. rite an equation you can use to answer each question. A 2
Solve the equation. Verify the solution. tb) 5 ﬁ

a) Five more than two times @ numbe? is 17. 4\) 5"" 22X =1+

What is the number? o - ) Ky =7

b) Six less than five timega numbep is 29. 22 = (2 —?— S
What is the number? X - > ! B

= i o X =7

6. The Grade 8 stud d %aduation dinner. They paid a ﬂat?aﬁte of $125 for the use of the hall,
- plus $13 fomﬁ‘@ulw attended. The total cost of the dinner was $944.
How many students attended the dinner? [R5+ 1AL = #
a) Write an equation you could use to solve the problem. / 35’ / 25

b) Solve th tion. V th
) Solve the equation. Verify the solution. :: C_.?—-

—~—

7. Use this information: / 2
Ice rental: $150 Skate rental: $3 X = / 4.5
a) Write a problem that can be solved using an equation.

/ﬂ/\l.)éertf t/l:e;cqualmr; lhen{\sol.ve ti;problejr;: ; ‘&S "{"D ron t m | C e m N é #\D ,

(N

M "j

fanl O

L v j=i
S exg ’?T e - HON ”W"WJ qu/fdt’/l S—rttend 74 H—FAe
)
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Extra Practice 3

Lesson 6.3: Solving Equations Involving Fractions

a) 4@)/7)4 l \’/"

1. Solve each equation. Verify the solution.

a)%=7 =28 b)§=9 Ee

81 One-quarter(of the chicken pieces/in the dish are wings. There are 7 wings. )
How many chicken pieces are in the dish? ! | P _
> —— v.p P :,.? — )( — =

a) Write an equation you can use to solve the problem.

b) Solve the equation. ! \ﬁ CL) - C:IZB Lll

¢) Verify the solution. / JS'I(‘I i/ = -28) CB __,Z;-g - \/
4.  Solve each equation. N
Verify the solution. 4 Af?) NARS ~ = /D
a2 _2=10 by4—L£ =13 = o 42
= 3k > pe-ds
¢) = +8= d-17+-2=9 }(9:@1)3
= 5% 3 =2 U373,

5. For each sentence, write an equation.

Solve the equation to find the number%{- ) -4 B = E>
a@dmded y—4is 7. (_:é 75 22

% b) Add 4 to@number)divided by -3 and thc sum is —2.

2 c) Subtr’ac@dmded by 6 from 1 and the difference is 5.

6.' Check this student’s work. Rewrite a correct and complete algebraic solution if necessary.

1 4=

V ——24+24——6+24

' (PHE = Showld ho £ = (€

| \-{“——'3é‘ ‘;\<0l/(€)('—t

15 =R ) :—,,??“-

b _ B c _ .
c)7—11b,;?,7, d)g 12 ¢ =3%7 |
2. Solve each equation. Verify the solution. ;}09}: J ( & )5’ L}){,El . (’O}**{
a)-;i=—8 :I 40 b)i6=10 L= .60 A
B l |
k — £ ™y q _ = - 1 éo
09— =-11 b=22 @ T=-124= 3b
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